
https://www.pass2lead.com/jn0-690.html
2024 Latest pass2lead JN0-690 PDF and VCE dumps Download

 

 

 

JN0-690Q&As

Junos Troubleshooting

Pass Juniper JN0-690 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/jn0-690.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

JN0-690 VCE Dumps | JN0-690 Exam Questions | JN0-690 Braindumps                                1 / 4

https://www.pass2lead.com/jn0-690.html
https://www.pass2lead.com/jn0-690.html
https://www.pass2lead.com/jn0-690.html


https://www.pass2lead.com/jn0-690.html
2024 Latest pass2lead JN0-690 PDF and VCE dumps Download

QUESTION 1

Click the Exhibit button. -- Exhibit -user@R1> show route forwarding-table destination 2.2.2.2 

user@R1> show route 2.2.2.2 

inet.0: 10 destinations, 10 routes (10 active, 0 holddown, 0 hidden) + = Active Route, - = Last Active, * = Both 

2.2.2.2/32 *[OSPF/10] 2w3d 22:19:41, metric 1 > to 17.1.1.2 via xe-1/1/0.0 

-- Exhibit -

Referring to the exhibit, which statement is true about transit traffic sent to 2.2.2.2? 

A. R1 will discard the packet. 

B. R1 will forward the packet. 

C. R1 will redirect the packet to the Routing Engine. 

D. R1 will reject the packet. 

Correct Answer: A 

 

QUESTION 2

Which three commands will provide details about CPU utilization on a line card? (Choose three.) 

A. show chassis fpc 

B. show chassis hardware 

C. request pfe execute target fpc1 command "show sched" 

D. request pfe execute target fpc1 command "show thread" 

E. request pfe execute target fpc1 command "show arp" 

Correct Answer: ACD 

 

QUESTION 3

Which three steps are involved in troubleshooting any problem? (Choose three.) 

A. Reboot the device. 

B. Clearly define the problem. 

C. Outline the expected behavior. 

D. Determine who made the changes. 
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E. Isolate the problem. 

Correct Answer: BCE 

 

QUESTION 4

Click the Exhibit button. 

-- Exhibit -user@host > show chassis craft-interface 

Front Panel System LEDs: Routing Engine 0 1 

OK * . Fail . * Master * . 

Front Panel Alarm Indicators: 

Red LED . Yellow LED * Major relay . Minor relay * 

Front Panel FPC LEDs: FPC 0 1 2 3 4 5 6 7 8 9 

Red . . . . . . . . . . Green * * . . . . . . * * 

CB LEDs: CB 0 1 

Amber . . 

Green * * 

PS LEDs: 

PS 0 1 2 3 4 5 6 7 8 

Red . . . . . . . . . Green . . . . * * * * * 

Fan Tray LEDs: FT 0 1 2 3 Red . . . . Green * * * * 

Front Panel SFB LEDs: SFB 0 1 2 3 4 5 6 7 

Red . . . . . . . . Green * * * * * * * * 

Front Panel Chassis Info: Chassis Number 0x0 Chassis Role S -- Exhibit -

Referring to the exhibit, which statement is true? 

A. Routing Engine 1 is OK, the red LED is lit, and the major alarm relay is on. 

B. Routing Engine 1 has failed, yellow LED is lit, and the minor alarm relay is on. 

C. Routing Engine 1 is OK, the red LED is lit, and the minor alarm relay is on. 

D. Routing Engine 1 has failed, yellow LED is lit, and the major alarm relay is on. 

Correct Answer: B 
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QUESTION 5

Click the Exhibit button. 

-- Exhibit -Slot 0 information: State Online Total CPU DRAM ---- CPU less FPC ---Start time 2012-07-07 03:21:00 UTC
Uptime 27 minutes, 51 seconds Slot 1 information: State Present Reason --- Hardware Not In Right Slot --Slot 2
information: State Online Total CPU DRAM 32 MB Start time 2012-07-07 03:20:59 UTC Uptime 27 minutes, 52 seconds
Slot 3 information: State Present Reason --- Hardware Not Supported --Total CPU DRAM 0 MB Slot 6 information: State
Online Total CPU DRAM 32 MB Start time 2012-07-07 03:21:01 UTC Uptime 27 minutes, 50 seconds -- Exhibit
-Referring to the exhibit, which three statements are true? (Choose three.) 

A. The Control Board in slot 6 is online and working. 

B. The card in slot 3 is not supported by the chassis. 

C. The Control Board in slot 0 has a missing CPU. 

D. The Flexible PIC Concentrator (FPC) in slot 1 is not installed properly for this chassis. 

E. The Flexible PIC Concentrator (FPC) in slot 6 is online and working. 

Correct Answer: BDE 
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